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[Time: 2.30 Hours]

Q.1. A. Choose the riglit answer (Any eight)
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Paper / Subject Code: 76901 / Principles of Marketing.

Oh-064-1g “,,Q;P-.»COY?E:;?SI%S\ o

[Marks 73]

Please check whether you have got the right quesnon paper . :

All questions are compulsory.

N.B:
Answer to sub-questions must he written togethe

N

Marketing is a systematic process of 1dentxfym0 i - needs.
(customer, dealer, supplier) Caiet el Bl R
concept of marketing iays emphasis on conserva

The
(marketing, societal, holistic) &
The environment studicsh,uman

distribution, etc.
(Demographic, Economic, Polmca])

The starting point of all
. 1S not a stage
Brand mnvol

(Market segmgpfaxi{m’? e Marketing, Marke
B is an important efement of beh
(Buvmg Motlyes Gemfe ,Region) -~ =

; ] OWing stat«,mems are True or Fa13c (Any Seven) (7 marks)
3 Mari\etmg facxhtates satlsfactlon of human wants.

counts.

very much fﬁef‘ée:ssary for business growth. *

1 nly by rmcro environmental factors.

Marl\etmg ﬁ:search mc’luﬂes'enly consumer research.

The vanab!es in markctmg,mrx are independent of each other.

- Generally, at growth stage, advemsmo i1s undertaken to create awareness

PLC resembles human life cycle

Target market should be adequately profitable.

" Price mrx mcludes dis

3

s Under product user stmtegy a product is associated with a user.

" Q2a W hat do you meén by mafketihg? Discuss its functions ‘ (8 marks)

b. Discuss the 4C’s of marketing {7 marks)
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Paper / Subject Code: 76901 / Principles of Marketing.

Q.P.CODE: 35125

OR
Q2. c. Explain the concepts:
1. Production concept
11. Product concept
111. Selling concept
iv. Relationship Cconcept

(Bmarks)

d. Discuss the factors affecting consumer behavior ' ' (7marks) S

Q3. a. Explain the factors in the micro envnronment of: busmess » :
b. What do you mean by marketing envnronment'? Explam the features

OR
Q3. c. Discuss any two types of marketing reSf:arch s
d. What do you mean by MIS? stcuss its 1mportanf‘e ’ St 7(7 marl\s)
Q.4. a. Discuss the various levels nf a product,, R ~_: @I"i’narks)
b. “Semetimes new products ' ~~(7 marks)
OR
Q4. c. Explain the steps in ne i (8 marks)
d. Explain the prouuct hfecycle n detad S - (7 marks)
Q.5. a. What is secrmentaflon‘? DlSCL!SS its 1mportance (8 marks)
b. Discuss the types of targetmg s e (7 marks)
Q.5. Short Notes (Any three) \ ' (15 marks)

i. Objective of pricing.

ii. Importance of braﬁding

ni. Social Marketing = .

1v. Advantages of e—marketlno
v Lmutatxons of i mternet mar ketmsz
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Paper / Subject Code: 76902 / Industrial Law.

q5ﬂouélq

Q.P. Code :12105

[Time: 2:30 Hours] [ Marks:75]

Please check whether you have got the right question paper.
N.B: 1. Figures to the right indicates the marks assigned.
2. All guestions are compulsory. Ha

Fill in the Blanks (any 8)
has ultimate control over the affairs of the factory

Permanent closing down of an establishment is called

Safety officers shail be employed when there are . or more workers employed RS
8 years may be a member of a regustered

Any person who has attained the age of
trade union. b ; i
An appeal shall lie to the from the order of a commissioner under Wor.km‘en"é
Compensation Act, 1923. 5 3 0y &
Employer is required to contribute.
contribution to the under the: Employees State Insurance Act.” ,
When an employee is incapacitated of domg any work which he was performlng at the time of

%:of the wages of an employee as

accident, it is known as disablement.
Fine cannoti be recovered in - under Payment of Wages Act, 1936.
Maximum amount of bonus-payable is 7 under Payment of Bonus Act, 1965.

An emplovee is entltled to gratunty after contmuous serv1c( of years.

State True or False (any 7) ; :
Retrenchment means termination of the employe‘e other than disciplinary action.

Temporary closing down of the establishment means Lockout.

Ina trade union contribution towards polmeal fund |s compulsory

Provxdmg creches facmty isa welfare provrsron :

Accrdent means.some expected & planned event happenlng

The- Employee s Compensation Act 1923 does not apply to persons employed in plantations
Employer s contribution is 15% of the wages of the employee under Provident Fund Act

; Ma;\rmum fme that can be imposed is 5% of the wages of an employee.

"nus is to be paid out of the available surplus.

’Gratwty lslnot requrred tobe pard to employees working in seasonal establishment.

: Answer ;he follgWing

08

07

Wh‘at.arethe va‘r‘io__us methods for settlement of industrial disputes under industrial disputes Act 08

era*t;,ar,e the rights & liabilities of registered trade union under Trade Union Act?
; , S

\l\lhaf’are the objeets on which general funds of a trade union may be spent?
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a.3

Q4

Q.5
a)
b)

Q.5

Paper / Subject Code: 76902 / Industrial Law.

A

Q.P. Code :12105

Answer the following
Explain the provisions relating to Health measures? a3 S gy bl T Cpl
Bring out the difference between Partial & Total disablement? ' IV o Ko B
OR S t i : )
Explain the provisions relating to welfare measures? _ v
Explain the nature of Employer's liability under Work\menr's Compensation A(;t, 19239 = St

.

Answer the following

08

Explain the Employees Deposit Linked Insurance Scheme? iy . ol ¢
Enumerate the different benefits under Empioyees State Insurance Act, 1948? 5 \_"1 07
o 5 e e o
Explain the laws relating to contribution under Provident Fund Act 18522 - 08
What are the obligations of empioyer under Employees State lnsurance Ac 07
Answer the following 7
Explain the deductions unde, 1 08
Explain the concept of avar!ab]e‘sas;p!u: & ancable surplus? 07
(5] e
Write Short Note (anyé)" £ 15
a. er Gratuity Act. 7 .
b. ’
d. Calcuiatroa & Amount chompensatlon under Workmen Compensation Act
e. Employee - :
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Paper / Subject Code: 76903 / Busme%s Mathematics.

Q.P. C0d831980

[Time: 21H0urs]

Please check whether you have got the ri ight questlon paper

N.B: 1. All questions are compulsory
2 In Q.1 atterapt both the sub-parts A&B.
3. Figures to the right indicate marks.
4. Use of non-programmable calculator is allowed. ;
Q.1 A) Choose the correct alternative (any eight) o Sl S 08
1. In___ years, Rs,8000 will amount to Rs.8840 at 3.5% p.a. sxmple Interest

(a) -

()5 V& e DT ,

(d)6

2. An annuity in which the number of payments are mﬁmte is caHe
(a) Infinity ‘ ' ]
(b) Intinite
(c) Limited annuity
(d) Perpetuity

3. fx)=5x-9i§ L
(a) an exponenn
(b) not a function - o
(c) A linear funct}on
(d) A quadratic function

4. "pr=
ey ¢! ) S
a (C) (T' chr)
(d) None of these.

SHEA Square matrix waose non- d1agonal elements are all zero and the diagonal elements are
¥ Loatall equal is called - v«
o (a) Scalar - '
. (b) Square
. {(c) Diagonal
. (dyneneof these - -

6.: If2 rows or 2 columns of a determinant are equal then the value of the determinant is

(@) Zero
(b) Unity
(¢) Double
_(d) none of these

Page1of 4

FS7DC588E8AS2B3F0029A05FOCA0647E



Paper / Subject Code: 76903 / Business Mathematics.

Q.P. Code 31980

7. Derivative of a function y with respect to x
(a) can be bought through a stock broker
(b) is a remainder
(c) is a measure of rate of change
(d) none of these

8. The total cost is C=3000+2x+x?, when x=5, the margmal cost is
(a) 6
(b) 20
(c) 12
(d) 300

9. If f(x) is a polynomial of degree 'n’ then A" f (x) ==
(a) Zero
(b) One
(¢) Non-zero constant
(d) Variable

10. At equilibrium point, :
(a) Profit
(b) Demand .
~(c) Loss v
(d) None of these

suj ply- EER

B) State True or Falsse" Y7 ; 07
03
04
Find f(l) f(4) and f(S)t Also ﬁnd x when f(x) =5
A Loan of Rs 80 000 i 15 to be returned in 3 equal monthly installments at the rate of 12% p.a. 08

Compaunded month}y Find the EMI using the reducing balance method. Find the interest and
principal repayment for each month. .
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- Paper / Subject Code: 76903 / Business Mathematics.

Q.P. Code :31980

OR
P 1. In how many ways can the letters of the word ‘DONKEY? he arranged, if the vowels 03
are never together.
ii. In how many ways can the letters of the word ‘STUPID’ be arranged it the 04

arrangements start and ends with vowels.

Q A watch company is to produce a cheaper variety of wrist watches. It involves initially a fixed 08
cost of Rs.2 Lakhs and a variable cost of Rs.105 for each wrist watch. If each wrist watch can be
sold at Rs. 500, find the total cost function, the total revenue function and the profit function.

How many wrist watches must be produced and sold so that the company does not incur any loss.

Q3 Ay 4= [i ‘31} find the matrix , A% + 34 — 5/ 04
Z 2
i) A=|-1 3 4
1 -2 -3 04
Q.3 B Solvc following equations using cramer’s rule 3 07
x+Iy=~z=11 ;
2x—y+2z=09
4x + 3y + 2z =25 S
v < / : QR ‘\\'Vk’ i " »
P The input —output matrixfor two industry case is giv 08
Industry. | Cénshmpﬁon' byIndustry & F,Tc‘)tal N
2 . $ 1 z = : 2 ; ;51\ ‘,Demandixv s Output
1 | 100 200 = & 100 400
2 1200 300 200 700
| Input 100 200: ’
ST DL S 300
Fmd tqtal outputs if demands are [5 0 O]
07
Q4 A Find dy/dxif, " 08
) vy = (2 =3x+5)/e* +1
B gF; 1d maxims ndmlmma for the function given below 07
S )= s 2 £ 10

Page3of4

FOTDCS88ESAS2B3F0029A05F9CA0647E



=5

Q5 A

Paper / Subject Code: 76903 / Business Mathematics.

Q.P. Code :31980

OR
The demand for a commodity when its price is x is given by:

y = i:i Find the elasticity of demand when the price is 5 units.

By preparing the forward difference table find the 6" and 7" terms of the sequence
D 6 11,18,27,38 =l
ii) 8,3,0.-1,0

A machine is bought at Rs.80,000 has effective life of 4 years. Asmkmg fund is érezite‘d‘; (
Rs.5000.

replacing the machine by a new model at the end of its lifetime, th?ﬂ its scrap value is )
The price of the new model is estimated to be 25% higher than the present price. Find out what
amount should be set aside at the end of each year out of the profits for the sinkin g nd o

accumulates at 5% per annum compounded annually. '

A factory produces 3 goods P, Qand R. A unit of P':r‘etquiife:sn
machine II and 1 hour on machine Iﬂthesameﬁgu s fo
a day. Find out how many unit of . Qaﬂé

Attempt any 3

{18
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Paper / Subject Code: 76904 / Business Communication-I1.

01- 0¢-19

Q.P. Code : 35027
[Time: 2% Hours) v [ Marks:75]

Please check that you have the correct Question Paper.

N.B: All questions are compulsory.
Q.l.  A. Fill in the blanks with suitable options: (Any 08) : ; ¥ 3 : ste [og]
1. are based on the Findings of a Business Report. ’

(Recommendations / Terms of Reference / Appendix) »
2. A is a powerful means of communication within an organisation.
(Press Release / Television / House Journaj) , e
When a is passed in a Meeting it becomes a Resolution.
(Motion/ Judgment/ Declaration) S o B ' :
4, A is a decision making body.(CQn:ference /‘Sybmp‘osium / Committeve) 2
Alob Interview is also knownasa ;—i[}‘terview.:'(Se_J‘ecAtionk/Se}Lec_'torr/"§égrégafj}on)
6. Catalogues, price-lists and other literature may-be sent by the seller.in response to‘a Letter of
.(Order / Complaint /Inquiry) 4 RS MR
7. AIDA stands for Attention, e 2 Désiré and Action; (Internet Z—lrr‘ilter‘e,étv/ Intranet)
8. A District Consumer Commission deals with.complaints up to'the value of Rs.
(Twenty Thousand/ Two Lakh/Twenty Lakh) ; o e
9. The Right to Information Act was passed in th‘é;year ~ . (2005 /2006 /2007)
10. The third stage of a Selection Interview.is. ot LD G o 0
(Parting/ Supplying Infbrmatio‘n/"-AEqui‘,ring"Jrj_fo‘mﬁlétiqn) BRSO

.L‘J

W

Q.l. B Match the following: (Any 07)" © ; N A EOH7]
1. Dynamics i A T Vete of Thanks = &
2. Delegates iy b \;Révvive'v'v'\gifsu,bo’rdin,ates' Performance
3. Flige \ e Vi‘d,e\ocon‘feréncing
4. Llastlteminthe Agenda d. Written Intimation about 2 Meeting.
5. . -Notice. ; "e.‘ I Specialised Periodical Publication
6 Newsletier k: Force
- 7 : Skype g Promotional Material
_';8,}5.»‘:,Feavs‘i,bi}ity Report h.e ‘Participants at a Conference
9. Structured Interview .7 Pre-planned '
10 Appraisal Interview i Studies the Prospects of Startinrg a New Venture
: Definé,lnterview."Hdw should an interviewer:prepare to conduct a Selection Interview? [08]
: Wha,t;'iis:a Conferéf}cé? Discuss the various ways to ensure the successful organisation of a conference. [07]
LG s OR
C.- What is a Grievance Interview? Why and how should it be conducted? [08]

v.vaéﬁh';ef:Pub!’i_c Rel tri'ons. List and explain any five methods of promoting Internal Public Relations in an [07]
‘organization. .~ : |

.-Rashmi Shetty wants to purchase a Platinum vacuum cleaner. Write a Letter of Inquiry on her behalf to [08]
Sam Electronics, Grant'Road, Mumbai inquiring about the various models, their features and prices. Use

the Complete Block layout.

Turn Over
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Q.iv

>

Paper / Subject Code: 76904 / Business Communication-IL

Q.P. Code : 35027 °

2

You had ordered 05 cases of glassware from Crystal Stores, Mahim, Mumbal When you recerved the_
cases much of the glassware was chipped or broken because of poor packaging. Draft a Letter of

Complaint and ask for a replacement of the damaged goods. Use the Modified Block layout

OR : .
A Committee has been appointed by Lok Mills, Shahapur to study the causes-for a huge number of staff
members leaving their jobs in the last two months. Draft an mvestngatlve Business Report on behalf of

the Committee.

Resolutions for the following: . g
i) Appointment of a Director ii) E‘xtension ofOfﬁce Premises SO

Draft a Sales letter to promote the sale of a Treadmill. Use the Semi Block layout.

You had purchased silver jewellery worth Rs. 25,000/- through online shopping and had made an advance
payment of the entire amount as COD wasn 't available. You have not got the Jewellery for the past two
months in spite of several requests .and reminders. ‘Draft aletter addressed-to the Consumer Redressal
Forum seeking refund of the entxre paid amount with surtable compensailon Use he Comple*e Block

layout.

o

. Draft an RTl Letter seeking. mformanon regardmg your Passportthat has not been dehvered to you in spite

of having submitted the required documents and completing all the necessary formalities over two

months ago.

. Summarize the following passage:

Every year, millions of tons of office-paper are discarded. Despite the promise of improved computer
systems and networking technologies, @ paperless society has yet to materialize, and experts now believe
it never will..Even so, there are ways to minimize the trillions of documents that are printed each year.
Computer users should use paper and -ehergy-in- a responsnble manner. This requires thought and
discipline. It can also make work life easier and less-expensive by saving time, storage space, and money.
There.are: three simple steps one cantake. First, think before you print. Do you really need a hard copy
(printed copy)? Are people asklng for a-hard copy when an email attachment would work just as well? If
you are concerned that your electronic-documents wnll be lost or altered, back them up and store them
on removable media such as a CD or a Pen Drive. Kept in a safe place, the electronic copy will not change
and will always be accessible. Third, encourage others to print wisely. When someone brings you a printed

~document, ask-him or her to_éend it by email cr give it to you on a remcvable media next time.

Wnte Short Notes on the following: (Any 03)

7 K Advantages of Meetmgs

© Exit Interview

Crisis Management

Functions of the Public Relations Department of an Organization
Promotlonal Leaflets and Fliers

TR s»!v"
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[071

[08] .

Draft the Notice and Agenda for a monthly Board meeting of Swaraj Cottor lextxies Surat Also draftf“',‘[07]

[08]
[07]

[08]

[07]

[15]
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Paper / Subject Code: 76905 / Foundation Course-II
10 -0y - <

Q. P. Code: 33877

Time: 2 % hours Marks=75-.

Note: 1) All Questions are compulsory.
2) I'igure to the right indicates full marks.

1. A Choose the correct alternatives (any eight) (08).

(i)  Liberalisation is based on ideas.
(Capitalist. Socialist, Communist)

(i)  Economic liberalisation was adopted by Prime Minister ,
(Mr. Manmohan Singh, Mr. Rajiv Gandhi, Mr. Narasimha Rao) -

(i) Article_ ofthe Constitgﬁj@n' abolished the practice of Lithﬁ;Qﬁability.
(15, 16, 17) S &

(iv)  The objective of Right to Freedom of Réijgion is tQ-is‘:ﬁistaiﬁ the -‘p,ri*r'ic'i‘p e of

(Communalism», ,Regiona}ism; Secularism)

v) : factor is formed of aH hvmg orgamsm
(Biotic, AbIOUC RObOUC) LAY

(vi)

(Herbn Qres, Omnwores Carmvores)

(vii) __arises-when goa“lldirecte‘d :bchaviour is blocked or thwarted.
(Frustration, Stress, Conflict)

(viil) - Eustress is also known as
A (quitii>s,'NegatiV6, Neutral)

B (1x) - means fonnmg c]ose associations with trusted friends and co-workers.
Foaes (Networkmg, Relaxation, Social support)

(%) Win;Wj,n.is the outcome of ~__ strategy.
- (Collaborating, Compromising, Smoothing

i 3 .ﬁ?B;“Stafe Wheth the Statéﬁ;e;it is True or False (07)

(i) The process of moving for a period of time in response of labour or climate
conditions is called asseasonal migration.
4 (ii) Zn Indla the concept of privatisation gained importance in the post reform period
bl since 1991.

Page1of4

2AS4EATF45EC1BBD90B6885F7COESB0O2



s

Paper / Subject Code: 76905 / Foundation Course-11

Q; P. Code: 33877 g
(iiiy  Magna Carta was signed in 1215. | . Cod w7

(iv)  Article 14 of Indian Constitution provides for Equality before Law _
(v)  Overuse of the renewable resources for short gain may shorfen a country s loncy

term economic future.
(vi)  Degradation occurs when earth’s natural resources are dep
(vii)  Stress aggravates diabetes. il :
(viii)  Intergroup conflict occurs within an individual.
(ix)  Addressors do not possess risk taking attitude.
(x)  Concealers don’t believe in taking risks.

2. What is liberalisation? What are the benefits and 'l-i'mipajtions of“l-jb"érrali'Satioﬁ? S (15)
OR 8 : |

Explain the concept of globalisation? Examine the 1mpact of globahsatlon on
employment. o

3. Define Human Rights. w_hat?a-féit};'e characteristics of human righ %~ (15)
Briefly explain Fungfamenfal Rights as enshrined in Indian Constituti

4. What is environmer’i{tél degradation? ,\Vhet' are its causes? . ; (15)

S

Discus,'s";t‘hel lmportance of /et\h‘iesflin an individual’s dei{é‘l’opment.

5. Explain various ét%ageg»ies for c‘oping w1th ,coﬁﬂict. (15)

OR

Write short'note on:"(;iny three): -

' (b)}'g_,MagnaCartari : ‘
©) Need for sustamable development
(d) ~ Causes of {strres:s

“(e). ~ Types-of individual conflicts

&k ok ok ok ok ok ok kR ok
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Q2

Q2

Q3

Q3

Q4

Q4

BMS  Sependu T

Paper / Subject Code: 76909 / Business Environment.

H-0¢- 19

QP.Code: 34131
Discuss in brief the scope of business.

OR

What is business environment? Explain its characteristics ;
State and explain various macro environmental factors influencing business in brief,

What is role of government in business? :
Write a detailed note on Capitalism. S

What is the impact of
CSR has become an

importance.
Explain t};e features efiégchﬁQ}Ogi';céji,énv 8
Describe the pros and cons of WTO, 7
8
7
15
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Q1 a.
1y

Duration: 2 1/2 hours
NOTE: 1. Ali questions are compulsory.

Match the Column (Any 8)

Paper / Subject Code: 76909 / Busihess Environment.

Q.P. Code : 34131

l@x‘ﬁlarks': 75

ii.Figures to the right indicate full _mArksr

jii.Draw neat and ciean diagram wherever necessary.

Consumer Durables a. Type of Llcensmg
Consumer Non Durables  b. Parmarshjpubétw\eegr‘; ovemmen tr‘xd;priiv'ate'.s@t‘c’)_r s e

Joint stock company c. Mobile phones

Internal environment

Technological Environment

Global Environment

GATS

TRIMs

Joint sector

Franchising .
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Paper / Subject Code: 76910 / Prmc1ples ofMdnagement

12-04-19 T
Time : 2.5 Hrs. < Marks : 75~

Note :- 1) All the questions are compulsory subject to internal ch»oi‘ée;',i :> il

2) Figures to right indicate fuii marks.

QI(A) State whether the following statements are True or False. (Any 7). =~ ~(07)
1 Forces that energize, direct, and sustain a person's efforts refers to motivation. -

2 To be effective, an organization must have clearly defined sets of goals and ob)ectwes
3 First-line supervisors are responsible for directing the day-to-day actmtles ofoperatwe
employees.

4 The four processes of management conmst ot" controllmg, leadmg, planmng and
outsourcing A S ; ST

5 Organizations that are more efhcxent are effectlve : : S 4

6 Mintzberg found that mangers carefully processed 1nformat10n before dec1d1ng What
actions to take. : D7 8

7 Middle managers spend more tlme on leadmg than on any of the other management
function. S :

8 A major advantage of the Delphl techmque over uther groap dec1smn—ma‘king techniques

is that bias effects of group mteraetions are eliminated. -

9 The effective leader ofthe fu v stre »}_ognlze that sometal trends encourage the shift
towards greater part1c1panon of non-ma) genal employees 11 decmon makmg

10.  Management theorles and prlnmples apply only to large corporatlons not small businesses.

Q1(B) Fill in the blanks choosmo the correct altemanves (An / 8)\ (08)

1 Which level of man agement is not mvolvedvm« qu_a‘lvj‘ty, based management?

. Upper management.

. middle management.

. first line management.
none (all are involved).

p..OO"N

o

' ;One of the following isnot associated with social responsibility?

: soeial comnutment

s
b. “social ¢ concern’
c. social programme
d. social structure

3 Directing is the primary responsibility of:

a. top management.
b. first line supervisors.

c. mlddle management.
d board of dxrectors

64597 Page 1 of 3
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! Paper / Subject Code: 76910 / Principles of Management.

4 staff authority works as

a. chain of command

b. channel of communication
¢. career responsibility

d. advice on certain matters

5 The first step in management by objectives is:
a. objectives are set for each department.

b. objectives ave matched with results.

c. employees are rewarded for achieving goals.

d. managers set goals for their departments.

6 The General Manager’s meeting was most hkely a result of the followmg management
function: : Cals : ;

Organizing
Planning

Decision-Making
Controlling

e o

Directional
Flexible
Specific
Standing

Sl SN

¥ w-lnrw. -
I RO

c. studies of motiva
d. none of the above

ry the four functions of management are:

g, zing, suggesting, and accommodating employees.
A ', organizing, controlling, and leading employees.

e plannmg, organizing, suggesting, and accommodating employees.
d momtormg, suggesting, journaling, and accommodating employees
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Q2(A)
(B)

©
(D)

Q3(A)
B)

©
D)

Q4(A)
(B)

©
D)

Q5(A)

Paper / Subject Code: 76910 / Principles of Management.

Discuss the role of Peter Drucker in the development of ’\/Ianagement concept
What are the levels of management? Briefly discuss the ! ie Jels Qf manaoement

OR

Expiain Managerial Grid
Briefly point out the striking features of the contingency approach

Define Planning. Discuss the steps in managenial plannma s

“‘Decision-making is the primary task of manager’ Comment

OR -

Explain Functional Organisation and its’ advantaves <
Explain Departmentation and 1ts unportance in the orgamzatmn

Distinguish between Cenﬁféi
State the factors detem;nmgSpan of Contro]

What is delegauoa‘? Exp}am:ﬂ}e difficulties for. p

oroamsatlon

n-and decentrahsatlon

oR

umerate lts ne ‘d and lmportance in an
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07)

(08)
07)

‘”i*:r(osff,f '

(07)

©08)

(08)
(07)

(08)

(07)

(08)
07)



